A 2 % (5 4 ZKBALR)

A LR R — X

AL H S 548 H28H

T f (% B ) 4 TEAMk GHE RS0 M

= s P Hue) A s
%77 T $: ( é éE ) % Fﬁ: P *L % A*L%%ﬂiﬁ(ﬁ%ﬁ m {%ﬂ-‘ (&IE) STZ%E 'ﬁ% %

BRLARZE HI X s s SR i S 27t R 1, 960, 000

1 HEX2VF 1 - "F 4 2, 059, 200
TRZERT K5 A BUIRZE PN 1,872,000
BESEERT HT R HEAA A 1,576, 000

2 IR A 964, 700
BRZE T RS TR 877, 000
/AN R T B (R R B 1,413,727

3 )1 F X 1, 551, 000
T P /N FR s 1,410, 000
o E BB RR U R K ER 2 (B4 T [X) 1,970, 000

4 RHRZEERE A T F A BREAK 1, 892, 000
ARZE T RS i A PR K Ui N I 1, 720, 000
S HINBL K E MR LHEE D3 ) 21, 130, 000

5 )~ A = 3% A 22, 308, 000
BRZEMT K- i AP SF - LN 20, 280, 000
FRE ROl K 2R AR (BB3 T X) B 5, 200, 000

6 B4 7 7 ke 5, 544, 000
BRAERT N 5, 040, 000
R EHEE I Bk aR A (B 1 T X) i 4, 650, 000

7 IR i L2 4, 950, 000
BRZERT N 4, 500, 000
TR E B G Bk BR28#2 (B2 LX) ) 3, 850, 000

8 RS 4, 103, 000
IRZERTN 3, 730, 000
WBHRT VX NVBEEHY — X (F1k)

9
AR AR
BEFHREERT VX NELAEY — A 1, 774, 800

10 BRJECC & ZEHEHEAES 1, 755, 600
AR SR BER R THN 1, 596, 000




